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= 90; Beta = -13; Hs = -(GammaxBeta)/(s"2%x(s-Beta));
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-1000; sp = -100000; Ks = K0Ox(sp/sz)x(s-sz)/(s-sp); figure(1); hold off; margin(Ks); hold on; margin(Hs); margin(KsxHs); figure(2); step(feedback(Ks*Hs,1),5);

-3; sp = -30; Ks = K0@x(sp/sz)x(s-sz)/(s-sp); figure(1l); hold off; margin(Ks); hold on; margin(Hs); margin(KsxHs); figure(2); step(feedback(KsxHs,1),5);

-10; sp = -100; Ks = K0x(sp/sz)x(s-sz)/(s-sp); figure(1); hold off; margin(Ks); hold on; margin(Hs); margin(KsxHs); figure(2); step(feedback(KsxHs,1),5);

-6; sp = -60; Ks = K0@x(sp/sz)x(s-sz)/(s-sp); figure(1l); hold off; margin(Ks); hold on; margin(Hs); margin(KsxHs); figure(2); step(feedback(KsxHs,1),5);

-6; sp = -600; Ks = K0@x(sp/sz)x(s-sz)/(s-sp); figure(1); hold off; margin(Ks); hold on; margin(Hs); margin(KsxHs); figure(2); step(feedback(Ks*Hs,1),5);

-6000; sp = -600000; Ks = K0@x(sp/sz)x(s-sz)/(s-sp); figure(1); hold off; margin(Ks); hold on; margin(Hs); margin(KsxHs); figure(2); step(feedback(KsxHs,1),5);
-6000; sp = -600000; Ks = KOx(sp/sz)x(s-sz)/(s-sp); figure(1l); hold off; margin(Ks); hold on; margin(Hs); margin(KsxHs); figure(2); step(feedback(Ks*Hs,1),5);

-4; sp = -40; Ks = K@x(sp/sz)x(s-sz)/(s-sp); figure(1l); hold off; margin(Ks); hold on; margin(Hs); margin(KsxHs); figure(2); step(feedback(KsxHs,1),5);

-8; sp = -80; Ks = K0@x(sp/sz)*(s-sz)/(s-sp); figure(l); hold off; margin(Ks); hold on; margin(Hs); margin(KsxHs); figure(2); step(feedback(KsxHs,1),5);

-6; sp = —-60; Ks = K@x(sp/sz)x(s-sz)/(s-sp); figure(1l); hold off; margin(Ks); hold on; margin(Hs); margin(KsxHs); figure(2); step(feedback(KsxHs,1),5);

-10; sp = -100; Ks = K0x(sp/sz)x(s-sz)/(s-sp); figure(1); hold off; margin(Ks); hold on; margin(Hs); margin(KsxHs); figure(2); step(feedback(KsxHs,1),5);

-10; sp = KOx(sp/sz)*(s-sz)/(s-sp); figure(1); hold off; margin(Ks*Ks); hold on; margin(Hs); margin(Ks*KsxHs); figure(2); step(feedback(KsxKsxHs,1),5);
-20; sp = -200; Ks = K0x(sp/sz)x(s-sz)/(s-sp); figure(1l); hold off; margin(KsxKs); hold on; margin(Hs); margin(KsxKsxHs); figure(2); step(feedback(KsxKsxHs,1),5);
-40; sp = -400; Ks = K0x(sp/sz)x(s-sz)/(s-sp); figure(1); hold off; margin(KsxKs); hold on; margin(Hs); margin(KsxKsxHs); figure(2); step(feedback(KsxKsxHs,1),5);




